20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

THOFE ZESFFRMESUERBAR (TyN—Hk) RELHFE
IEH  2EE  JEE AEE ECRE CERE R MR EORE AEE JEW  2EW  1EW
5838 5A6H 5H12B 5A19A 5H25H G6A1A 6R9H 6A18 5A258 5RA19A 5A12H ©5H6B 5A3H
| B } } REHEE
| & }7‘4 T 4y et 1—{ FR
0 2
| i — 4 3 —] R
1 0
| RIT% p— e REBXHK
Hili|54 58|31l
9:45 11:15
| 1EED — ————— RISt
11 3
0 1
| ki) T a— ] BEEE
BEXMTRE|39 A7{E L
11:30 15:45
| (i |
oG ——— B
| RERHIE - KI5 BB |62 64| KRS EBEE —1 RERFEE
11:00 13:30
| i — ———————— I&ETFA
9 5
| e F—op 0 0 — 57
0 2
1 0
EEEE T ] it
IR EEFIA |40 48| EnEEFE
14:00 12:30
| HES F— ——] HERE
0 1
2 2
| =% }— ‘ 71t |55 59| 3 i85 —1 REAR
9:30 12:30
| s F— ——] 1BAIL
03EQ 0
|amAGask - mza - B3) |—— Ol 2 — Hit
0 1P2]
6 K4
I el —{ ==
| mexFR | } I
X5 E3X B |66 67| K5+ £ B
11:00 68 13:30
| s | $ARE ST L | =
| AE ‘ KB El k|42 BB — BREKHE
3 1
0 0
| m=mIzx [ — ) ; ] i
0 0
| A p—— e Z3
&1t |56 60| SL AR
11:00 14:00
| BE 7 E F— ——] FEELE
0 0
3 5
| sy e g
AftLL |43
11:30 51(#
11:00
| Tt — ——] T
1 0
0 [
KI5 7 Ll 163 65| K15 EIKB
| =EFEL }— 11:00 13:30 —{ R
| # — ——————— R
4 2
| 5% — 0 0 — il
6 0
2 1
| L - I m— L  FHKE
(44 52( 1 i fE
9:30 9:15
| IEIRE F—— ————{ - g
0 2
2 6
| BE ‘ R 51 61| FERHE —1 M B8R
11:00 B 9:30
B
| HEFA — st —————— nEEE
: Jx7IL—E )
| 1L — ° 0 — wEEa
0 2
7 0
| ke — St S i ] R
| #wmmugzE | } REME

36

37

38

39

40

4

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69



